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REC Level 5 Diploma in Recruitment Leadership
RECTC 5-2 Leading People and Teams in Recruitment
Past Exam Paper
Time allowed:  90 minutes
70 marks

· Students are required to answer all questions

· Marks allocated to each question are clearly shown

· Where appropriate bullet points can be accepted

· Do not penalise students for grammatical/spelling errors

· Annotate the MS where additional, relevant answers are given by students

· Mark in red ink

· Ring totals for each of the questions and transfer to front cover

· Indicate you have seen each and every page by marking in red ink

· Do not add personal comments about student performance

· Alert REC to any suspicion of collusion, dyslexia or other problems

· Keep an independent record of student marks in case of mislaid scripts

· Alert REC to any comments, notes etc., in script from student
1.
Ralph and Harry are the owners of a property recruitment consultancy. They formed the company in the late 1990’s and have witnessed it grow significantly over the last two decades. There are six teams that all perform at different rates within the business. Some of the teams perform consistently well and require little input, but others need more direction. Over the next financial year, Ralph and Harry wish to establish a new team that will focus predominantly on the recruitment of estate agents. 

a) Before starting the recruitment drive for new team members, Ralph decides to research ‘Six characteristics that make a highly effective team’ (Alina Vrabie’s study).
Give two of the characteristics outlined in Vrabie’s work.












(2 marks)

Award one mark, for up to two of the following:

A
Each team member has emotional intelligence

          



(1 mark)

B
The team consists of a mixture of extroverts and introverts – when applied to 
recruitment teams it can also be said that there exists a mix of top and steady billers

(1 mark)
C
The team shares an understanding of common goals

           



(1 mark)

D
The team makes time for humour




           


(1 mark)

E
They communicate proactively




           


(1 mark)

F
There exists strong leadership at the helm



           


(1 mark)

(AC: 1.1)

b) Belbin’s study on Team Roles recognised that an effective team cannot be built entirely of individuals with the same behaviours. Explain the benefits to Ralph of having a mix of personalities and strengths in the team.





  (2 marks)
Award up to two marks for an answer in the spirit of:
A 
A team of mixed individuals will be able to tackle new and complex tasks by 
 

(2 marks)

sharing knowledge. The best can be made of expertise and all members will feel 
involved.

(AC: 1.2)

c) According to Belbin’s theory Ralph is ‘The Plant’ and Harry ‘The Shaper’.

Explain how ‘The Plant’ and ‘The Shaper’ may complement each other in a team environment. 












(2 marks)

Award up to two marks for an answer in the spirit of:

A 
‘The Plant’ is creative and will have vision for the business and the ‘The 


(2 marks)

Shaper’ provides the drive and momentum to ensure the team delivers 
company goals.  One is thought orientated and the other action orientated 

d)
Historically, Ralph and Harry have struggled to introduce new teams to the business and are concerned that it may be linked to the corporate culture. Explain what is meant by ‘Person Culture’ and ‘Power Culture’ as described by Charles Handy.











(2 marks)

Award 1 mark for each answer in the spirit of:

A 
Individuals believe themselves to be superior to the organisation (Person) 


(1 mark)
B 
Power is concentrated among a few with control spreading from the centre.  


(1 mark)

There are few rules and little bureaucracy (Power)







(AC: 1.3)

e)
Bruce Tuckman’s theory of ‘Forming, Storming, Norming, Performing and Adjourning’ is widely recognised when creating new teams. Describe the ‘Storm’ and ‘Adjourn’ stages of the Tuckman Model.
           











(6 marks)

Award up to three marks for each stage in the spirit of:
A
‘Storm’ – as members of the team become more confident, competition may begin 

(3 marks)

for the manager’s attention and cliques may form. Conflict among team members 
may occur. The manager will at this stage be able to identify personalities and begin 
to coach objectives 













B
‘Adjourn’ – an opportunity for development, increased or alternative objectives and 

(3 marks)

new challenges. Team members may wish to move away from the team and develop 
new skills. This may signify time and space for change







(AC: 1.2)

f)
Ralph and Harry’s business and structure has evolved organically. As they enter a phase of expansion, they have decided to look at alternative operating models and have investigated the Mechanistic structure.

Explain two advantages and one disadvantage of implementing the Mechanistic structure in their business.









(6 marks)
Award up to 2 marks for each of two correct advantages from the following: 
Advantages
A
This structure includes narrow spans of control and high centralisation giving Ralph (2 marks)

and Harry greater control and the recruiters more specific tasks  




B
Easier to set and measure KPIs and targets as the recruiters work is more
 

(2 marks)

controlled and focused 










C
Greater efficiency as tasks and processes can be standardised across the business

 (2 marks)

D
Different departments can be managed separately so specific actions / decisions can 

 (2 marks)

be taken if one sector or group is not performing






R 
Any other reasonable answer 
 






(2 marks)
Award up to 2 further marks for identifying an appropriate disadvantage from the following: 

Disadvantages
E
A Mechanistic structure may stifle creativity as consultants’ work is more rigidly 

(2 marks)

controlled and has a more narrow scope  







F
Less sharing of ideas between areas of the business 





(2 marks)

G
Employees who perform well under the Organic structure may resent being 


(2 marks)

managed more directly and being task driven and may leave. 





R
Any other reasonable answer  







(2 marks)

 (AC: 1.4)

g)
Describe one of the traits of the ‘Circular’ type of company structure. 













(1 mark)

Award one mark, for one of the following:

A
Relies on hierarchy









(1 mark)

B
Lower level employees occupy the outer ring and higher level employees occupy 

(1 mark) 
The outer ring

C
Leaders are at the centre of the organisation






(1 mark)
(AC: 3.4)

2.
Sarah runs a recruitment training company and has been asked by Emma, the owner of ‘Temp to Temp Recruitment Limited’ to design a recruitment management masterclass. Sarah will deliver the course to Emma’s management team.
a)
Sarah decides to open the masterclass by discussing the main differences between a manager and a leader. 


Give four dangers to the business if the management team does not have combined manager and leadership skills.











(4 marks)

Award up to four marks for an answer in the spirit of:
A  
The business may not be able to grow, develop and change to suit market challenges 

(1 mark)
B 
Not having vision and long term perspective, recruitment organisations may stagnate

(1 mark)

and lose business and staff to competitors







C 
Ideas and vision need structure and managing – the danger of not having an eye on 

(1 mark)

the bottom line is a business that does not know how to get to where it wants to go


D    
There is a danger that organisations will become fragmented, lack motivation and 

(1 mark)

operate disharmoniously










E 
There is a danger that systems rather than people will be the focus of the company

(1 mark) 

F
There is a danger that the status quo will be accepted and that no-one will challenge

 (1 mark)

Directors, etc.












R 
Any other reasonable answer that highlights a danger of employing only managers 

(1 mark)

or leaders in the organisation 









(AC: 2.1)

b)
Emma has told Sarah that she wants her managers to be able to confidently coach and mentor their teams. They are often guilty of leaving individuals to fend for themselves and Emma would like to see them learn some new techniques.  

Other than ‘Follow Up and Review’, identify and describe two of the other four stages involved in a coaching plan. 











(4 marks)
Award one mark for naming the ‘stage’ and a further mark for any one explanation in the spirit of the following:
A
Diagnosis and exploration 








(1 mark) 
AA
An internal diagnosis of strengths and weaknesses should be made. 



(1 mark)

AB
Give the learner time to express their needs. 






(1 mark)

AC
Set SMART goals. 









(1 mark)
B
Understanding. 









(1 mark)

BA
Help the learner understand the problem they face. 





(1 mark)

BB
Seek agreement and commitment to goals. 






(1 mark)

BC 
Decide on a way forward 








(1 mark)

C
Consider learning methods. 







(1 mark)

CA
Consider how the learner learns best. 






(1 mark)

CB
Consider the methods of communication they prefer. 




(1 mark)

CC
Learning methods should be relevant to the individual being coached



(1 mark)

D
Develop a ‘coaching contract’. 







(1 mark)

DA
Agree specific small steps in a set time frame. 





(1 mark)

DB
Be realistic and give the learner time to improve. 





(1 mark)

DC
Ensure that the individual being coached understands their contribution to the team 

(1 mark)

(AC: 2.4)

c)
Emma would like the management team to implement effective feedback. Why is it beneficial to the team, individual and manager to provide effective feedback?











(3 marks)
Award one mark for each answer in the spirit of the following (max 3 marks):

A
Effective feedback provides an opportunity for recognition and identifies areas
(1 mark)

for development











B
It increases motivation, identifies goals and objectives




(1 mark)
C
It provides recognition and identifies areas for development




(1 mark)
D
Overall it helps produce effective and successful individuals and teams 


(1 mark)
R
Any reasonable answer








(1 mark)

(AC: 2.2)
d)
Emma feels that there is often conflict between the recruiters at ‘Temp to Temp’.  She would like Sarah to include a session on how a trusting team can help manage conflict.
Give two behaviours commonly displayed by teams that do not trust each other.











(2 marks)
Award one mark for each of two from the following. Marks are to be awarded for behaviours, not consequences / outcomes:

A
They conceal their weakness and mistakes from each other

          


(1 mark)

B
They hesitate to ask for help or provide constructive feedback
           



(1 mark)

C
They hesitate to offer help outside of their own areas of responsibility        


(1 mark)

D
They jump to conclusions about the intentions and aptitudes of other



(1 mark)

E
They fail to recognise and tap into one another’s skills and experience.     


(1 mark)

F
People hold grudges






           

(1 mark)

G
Team members dread meetings and find reasons to avoid spending time together   

(1 mark)

R
Any other reasonable answer







(1 mark)

(AC: 2.3)

e)
Explain what is meant by the term ‘Team Charter’. 













(2 marks)
Award up to two marks for an answer in the spirit of:
A
A team charter is essentially a road map. It illustrates where the team will start and 

(2 marks)

where they hope to end. It offers direction and clarity on what is expected.



(AC: 2.5)

f)
Following the masterclass, Sarah delivers her feedback to Emma. She says that some managers mentioned they were not aware of the company’s basic employment policies and procedures or did not know where to find the information. Emma admits she has not had time to put anything in place. 

Other than for legal reasons, why is it important for both employees and employers that correct policies and procedures are in place?













(2 marks)
Award two marks for an answer in the spirit of:
A
By understanding employee principles and ensuring an organisation has clear 


(1 mark)

policies and procedures in place, employees can understand what is expected of 
them 


B
In return, a firm can experience greater retention levels and buy-in from employees

(1 mark)

(AC: 3.1, 3.2)

3. 
Sarah advises Emma (who has already reviewed the positioning of the induction).to produce an onboarding checklist. 
Identify and describe five other headings that should be included.











           (10 marks)
Award one mark for the heading and a further mark for the explanation of five of the following stages:
A
Check the scope of the induction programme




         
(1 mark)

AA
Does the programme include the basics? Tour? Facilities? Organisational 


(1 mark)

structure? Will they understand their job description?






B
Appoint a mentor / buddy








(1 mark)

BB
Consider appointing a buddy. This will help with any problems that the new 


(1 mark)

employee may have and may help introduce them to other members of staff 



C
Plan the induction and involve and inform others


          


(1 mark)

CC
Everyone involved in the induction should be made aware of the proposed 


(1 mark)

programme. The programme should cover the first day, the first three to four 
weeks and the first three to six months











D
Prepare the work area.






           

(1 mark)

DD
Work areas and desk need to be clear and the tools needed to start the job made

(1 mark)

available. Emails should be set up, computer ready and log ins at hand  



E
Introduce the new employee to the department and the organisation.           


(1 mark)

EE
There can be a long gap between notice periods and a new member of staff joining

(1 mark)

an organisation. Organise a walk around the office, or a lunch, to make them feel 
welcome
F
Emphasise the importance of organisational policies and procedures         


(1 mark)

FF
A new employee must be made aware of relevant legislation. Tell them where


(1 mark)

they can find relevant information





           


G
Plan a balanced introduction to work




           

(1 mark)

GG
New recruits shouldn’t feel stifled by their manager. A mix of explanation, 


(1 mark)

observation and on the job experience is advised to get up and running. 



H
Clarify performance standards.




           


(1 mark)

HH
Make the new employee aware of the performance levels expected. If relevant, 

(1 mark)

provide them with a copy of KPIs and expected goals. Ensure they know how to 
use any CRM systems and how achievements are discussed          




I
Conduct regular reviews of progress




           


(1 mark)

II
Reviews and informal chats will help as a reference check point, for both employer

(1 mark)

and employee. Progress can be monitored and any issues or queries discussed 


J
Feedback







          


(1 mark)

JJ
Seek feedback from new starters and those involved in the induction process. This 

(1 mark)

can help to improve the induction process and staff retention
           




R
Any other reasonable answer







(1 mark)

RR
Any other reasonable explanation







(1 mark)

(AC: 3.3)

4.
Daryl has recently been promoted to the position of Permanent Recruitment Manager at a financial services recruitment consultancy. He is now responsible for all the permanent business activity. Daryl is keen to improve performance management across the team and starts his new role by reviewing the current appraisal process. 
a)
Explain the key features of three different types of appraisal systems.












(6 marks)
Award one mark for naming the system and one for an explanation, for up to three of the following:

A
360 degree appraisal – The aim of this type of appraisal is to offer the manager a full

(2 marks)

picture of the employee and their behaviour, by interviewing a number of people
within the employee’s network (colleagues, candidates etc)         



 

B
Management by objectives – This type of appraisal allows the manager and the 

(2 marks)

employee to agree specific objectives and an agreed timescale for completion. This 
puts emphasis on success on to the employee and success or failure are easy to 
measure
         

C
Ratings scale – This requires the manager to draw up a ratings system. A particular 

(2 marks)

grade will be needed to pass a successful appraisal         





D
Performance appraisal – This takes in to account the feedback of the employee only

(2 marks)

R
Any other reasonable answer





         

(2 marks)

(AC: 4.1, 4.6)

c) As part of the appraisal, Daryl decides to question all staff about their work/life balance and reiterate why it is important. 
Why is a good work/life balance often difficult to maintain within the recruitment industry?











             (2 marks)
Award 1 mark for any two from the following:

A
Recruitment is a target and results driven industry. It can be difficult for employees

 (1 mark)

to switch off







           



B
As we are now so technologically connected, working remotely is now part of 


(1 mark)

everyday life







          



C
Many will check emails or social media accounts for work purposes outside of 


(1 mark)

working hours







          



D
Clients expect recruiters to be available at all times of the day
     
      


(1 mark)

R
Any other reasonable answer




           


(1 mark)

(AC: 4.2) 

d) Daryl discovers that the current appraisal and performance management system is not fit for purpose, either for individual consultants or collectively. 
Explain why it is important to have an effective process in place and what areas the new process should cover. 











(8 marks)
Award one mark for each correct answer up to a maximum of 8
A
Without an appraisal system Daryl will not know how individuals or teams are


(1 mark)

currently performing or historically performed





B
SMART objectives / KPIs and goals cannot be defined and set for individuals or 

(1 mark)

teams 
C
Areas for improvement cannot be identified






(1 mark)
D
Training needs analysis cannot be undertaken





(1 mark)
E
Review and analyse what progress has been made





(1 mark)
F
Management Information can be collected and reviewed at meeting to assess 


(1 mark)

performance against targets and KPIs








G
How members of a team have worked together





(1 mark)
H
Coach and support the team to achieve objectives





(1 mark)

J
Assess / review roles performed by individuals within a team




(1 mark)

K
Re-assess individuals and teams when objectives have been met



(1 mark)

R
Any other reasonable answer







(1 mark)

(AC 4.2, 4.3, 4.4)

5.
Daryl coordinates the team’s activities via a Monday morning meeting, a weekly one-to-one meeting, a weekly team meeting and close of play meeting on a Friday. These meetings are all meticulously planned and prepared for by all attendees. One member of Daryl’s team suggests that a “meeting for meeting’s sake” culture has evolved. 
a)
What are the potential disadvantages to the business of this type of management style? 












(2 marks)
Award 1 mark for each of two from the following:

A
The cost to the business 








(1 mark)
B
Recruiters may feel that they are not able to do their job




(1 mark)
C
Messages will not be heard – disengaged staff 





(1 mark)
R
Any other reasonable answer.





           

(1 mark)

(AC: 5.2)

b) Daryl decides to move away from this rigid meeting schedule. He implements a system where an informal meeting can be called by himself or any member of the team as and when they feel it is necessary. 
Give four potential disadvantages associated with adopting this approach.  




                                                                                                          


(4 marks)
Award one mark, for up to four of the following.

A
Not all participants would be available when one party wants a meeting 


 (1 mark)
B
Meeting is unlikely to be planned sufficiently 





 (1 mark)
C
The person chairing the meeting may not have the experience / skills to control the 
 
(1 mark)

keep the meeting and keep it on track                 






D
Some meetings, such as performance reviews / appraisals are likely to benefit from 

(1 mark)

a more formal meeting structure








E 
The person chairing the meeting may not have the experience / skills to ensure all 

(1 mark)

participants get the most out of the meeting







R
Any other reasonable answer







(1 mark)
(AC: 5.1, 5.3)
(Total: 70 marks)

END OF QUESTIONS
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